
Extending stand with height adjustment, ideal for a variety of applications. Fitted with four castors, two with brake, for maximum manoeuvrability and
safe positioning.

Specification
Model No: . . . . . . . . . . . . . . . . MK58
Minimum/Maximum Height: . . 770/1300mm
Minimum/Maximum Width:. . . 170/900mm
Frame Depth: . . . . . . . . . . . . . 610mm

Assemble panel stand according to the diagram below.

iNstructioNs For: 
concertina panel Stand
MoDEl No: MK58

 1. Safety inStructionS

 2. introduction & Specification

 3.  aSSeMBly

thank you for purchasing a sealey product. Manufactured to a high standard this product will, if used according to these instructions and properly maintained, give you years 
of trouble free performance.

IMPORTANT: pleaSe read tHeSe inStructionS carefully. note tHe Safe operational reQuireMentS, WarninGS, and 
cautionS. uSe tHiS product correctly, and WitH care for tHe purpoSe for WHicH it iS intended. failure to do So 
May cauSe daMaGe and/or perSonal inJury and Will inValidate tHe Warranty.

Original Language Version MK58   issue:1 - 06/12/13

	 only use on firm, level, unobstructed surfaces which are capable of supporting the stand and body panels.
	 do not overload.
	 Always load evenly with the centre of gravity of the load as near the centre as possible.
	 Apply the brakes before commencing work.
	 do not stand/ride on the stand, or allow others to do so.
	 replace or repair damaged parts. use only recommended parts. unauthorised parts may be dangerous and will invalidate the warranty.
	 WarninG! Failure to comply with these instructions may result in loss of load, damage to the stand or other property and/or personal 
 injury. 
	 WarninG! the warnings, cautions and instructions discussed in this instruction manual cannot cover all possible conditions   
 and situations that may occur. it must be understood that common sense and caution are factors which cannot be built into this  
 product, but must be applied by the operator.	

© Jack sealey limited

Number Part No. Description      Quantity
1 MK58.01 Wheel  2
1 MK58.01A Braked wheel 2
2 MK58.02 Washer 3/8" 8
3 MK58.03 Nut 3/8"  4
4 MK58.04 Bottom support 2
5 MK58.05 Knob  2
6 MK58.06 set tube  4
7 MK58.07 screw 1/4x1¾ 4
8 MK58.08 Washer 5/16" 8
9 MK58.09 top support 2
10 MK58.10 Pin  2
11 MK58.11 lock nut 1/4" 4
12 MK58.12 Folding plate 4

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
iMportant: No liability is accepted for incorrect use of this product. 
Warranty: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 
inforMation: For a copy of our latest catalogue and promotions call us on 01284 757525 and leave your full name and address, including postcode.

01284 757500

01284 703534 sales@sealey.co.uk

Sole uK distributor, Sealey Group, 
Kempson Way, suffolk Business Park, 
Bury st. Edmunds, suffolk,
iP32 7Ar

www.sealey.co.uk
W e b

email

   environmental protection.
  recycle unwanted materials instead of disposing of them as  
  waste. All tools, accessories and packaging should be sorted,  
  taken to a recycle centre and disposed of in a manner which  
  is compatible with the environment.


